
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

5, 768 × ________ = 57.68 6, 453 × ________ = 64.53

2, 163 × ________ = 21.63 10, 342 × ________ = 103.42

8, 135 × ________ = 813.5 2, 212 × ________ = 22.12

6, 668 × ________ = 66.68 7, 258 × ________ = 725.8

2, 91 × ________ = 29.1 4, 197 × ________ = 41.97

5, 133 × ________ = 5133 4, 098 × ________ = 40.98

5, 707 × ________ = 5707 3, 08 × ________ = 3080

6, 883 × ________ = 6883 7, 31 × ________ = 731

2, 643 × ________ = 2643 7, 057 × ________ = 705.7

1, 715 × ________ = 1715 2, 563 × ________ = 2563
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

5, 768 × 10 = 57.68 6, 453 × 10 = 64.53

2, 163 × 10 = 21.63 10, 342 × 10 = 103.42

8, 135 × 100 = 813.5 2, 212 × 10 = 22.12

6, 668 × 10 = 66.68 7, 258 × 100 = 725.8

2, 91 × 10 = 29.1 4, 197 × 10 = 41.97

5, 133 × 1000 = 5133 4, 098 × 10 = 40.98

5, 707 × 1000 = 5707 3, 08 × 1000 = 3080

6, 883 × 1000 = 6883 7, 31 × 100 = 731

2, 643 × 1000 = 2643 7, 057 × 100 = 705.7

1, 715 × 1000 = 1715 2, 563 × 1000 = 2563
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